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9a. Colour % of each shape.
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6b. Colour the second image to show an
equivalent fraction. Write the fractions
underneath.

(]|





image3.png
Use this method to

f\ find equlvalent
= 71g fractions lo = and 7
x4/ where the

denominator is 16

Eva uses the same approach to find equivalent fractions for these
fractions. How will her method change?
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Eva says,

3.
| know that 3is

. 3
o equivalent to 5 because
the numerators are the
same.

Is Eva correct?
Explain why.
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8a. Carlisle has written some equivalent
fractions.

5 _ 25 7 _ 21
A% =30 Be = 27
8 _ 56 49 _ 7
Co =72 De = 7

Find and explain any mistakes.




